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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

AT

ECONOMICS

eiRa a7 : 3 g2 37ferhad 37 : 100
Time allowed : 3 hours Maximum Marks : 100

58/2/1 1 P.T.O.



Wﬁﬁﬂ:

(i)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

gl @vel & ¥t yo7 37T & |
Y% J97 & [94RT 37 398 e v 70 & )

97 &1 1 - 3 7T 15 — 19 37/d THRIHE 97 &, 15778 I3 #71 1 3% 8 |
57T Ycd% T I Uk T H &7 3791877 & /

o7 GEIT 4- 8 3K 20 - 22 TLRIHF o7 &, 1970 F9% & 3 37 & |
Jedh &1 I GIHTIT: 60 Isq] & 37fer 787 17 =iy |

97 GEIT 9 - 10 37K 23 - 25 4 TLHIHE 97 8, o770 A% & 4 3% & |
Je9% T IR G 70 Jg] & e 787 517 =T |

J97 &7 11-14 3K 26 - 29 FH FT0HS 97 &, 977 I9% & 6 37
g | Y99 &7 3T GHI=IT: 100 Isq] & 37ferw 787 8§17 =1ieq |

I GIETT T FeIIHSE &7 FNRT T IIEYTT FT 31 T8 Ioq GHT & SFld
&7 few S Tifzw |

General Instructions :

)

(it)

(i11)

(iv)

(v)

(vi)

(vit)

58/2/1

All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Questions No. 1 -3 and 15 - 19 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Questions No. 4 -8 and 20 - 22 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Questions No. 9 — 10 and 23 - 25 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 11 - 14 and 26 - 29 are long-answer questions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A
SECTION A

AT <l FiewTsT €T | 1
Define utility.

If¢ a%g Y <l hmd # g & awg X I 711 Fedl 7, af Fl a&q3T o o T8
Treeg 7 : (F8 Ty gHu) 1
(31)  wfceerd

@) T

(@) Gty T8l

() U @1y gi <t I aredt

If with the rise in price of good Y, demand for good X rises, the two goods
are : (Choose the correct alternative)

(a)  Substitutes

(b)  Complements

(c) Not related

(d)  Jointly demanded

Tsh IUAHT haed g1 TEG3TT T SUNNT KT 8 | A g1 | Th a&] I hiva
it 2, @ emfeomm a5k« (wd fashew giw) 1
() W I AR fggerar g

(&) = e fagear 2

(@) W AR A= qH AR Rawes gl @

(3) & Ragepar 2

A consumer consumes only two goods. If price of one of the goods falls,
the indifference curve : (Choose the correct alternative)

(a)  Shifts upwards

(b) Shifts downwards

(c) Can shift both upwards or downwards

(d)  Does not shift
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4. 0T T §T, fefarftga arferert ot e IcuTed GHTeHT I3 & SRR W

feoquft Hifsr -
T X (3H1) T Y (315

A |w (o= |o
O |~ [ DN | W |

Giving reason, comment on the shape of Production Possibilities Curve
based on the following table :

Good X (units) Good Y (units)

A |w [ = o
O |~ [ DN | W |

5. ‘Td e AR o1 YRd 1degaen % Icqred GHTeAT 9k 9T R YT
T 3R AT 2
HAAT
A | §¢ T T foceft I6ft o o & IcuTe HUTaHT J5h T T THTE 98 hi
FHTEHT g 3R 1 2
What will be the impact of “Education for All campaign” (Sarv Shiksha

Abhiyan) on the Production Possibilities Curve of the Indian economy
and why ?

OR

What will likely be the impact of large scale inflow of foreign capital in
India on Production Possibilities Curve and why ?
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6. qfd S HWa A o A ok AY IS GH-19% (plus sign) HT T H [T H
Hd w= & A9 o H1Y FOL-FU% (minus sign) #0118l @ ? HHEATST | 3
Why is minus sign attached to the measure of price elasticity of demand

of a normal good in comparison to the plus sign attached to the measure
of price elasticity of supply ? Explain.

7. T QU SiERT SR H BHT % T H ITN H qE T AT AN H T HA H
IS BRI TET § | 56 TorRIoer 1 Hew HHeET | 3

There are no barriers in the way of firms leaving or joining industry in a
perfectly competitive market. Explain the significance of this feature.

8.  Afiehan shimad fraier @ w1 A 8 2 9W=Ia: $6 fohe YR 1 aEgsti ™
AT ST 7 2 @I 3l 3T HIfT, | 3

What is maximum price ceiling ? On what type of goods is it normally
imposed ? Use diagram.

Fig:  HEciRad ge FacT GIvg ahemiEar & g IvT G 8 & T WE |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 8.

f¥repan hmd feio it =an fmd i & = 7@ gusmsy | 3

Explain the difference between maximum price ceiling and minimum
price ceiling.

9. TH IUARH T a&q W, & hmd T 4 Ifd 1€ 8, T 400 =T LT 7 |
e hed ® 25 Sfawrd i gig Bt 7, @ Wi 98 T 400 & =9 w1 7 | gfawa
fafer gro dm i Hma = @ Hif 4

A consumer spends ¥ 400 on a good priced at ¥ 4 per unit. When the
price rises by 25 percent, the consumer continues to spend ¥ 400.

Calculate the price elasticity of demand by percentage method.
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AM(d & AT AW & ? Tehilehl SN I Teh &g hi TMY(d W T Tl
JHTE THETST, |

HAAT

qfd o afteds @ w1 AU 8 ? T avg W R @ 1 3Hh! gfd W IS
9Tl {19 9HATST |

What is supply ? Explain the effect of technological progress on supply of
a good.

OR

What is ‘change in supply’ ? Explain the effect of tax imposed on a good
on the supply of the good.

Teh UMK hacd g Fegatl T IUYNT HLdl 8, Tceh hi shivd Tsh &9 Ufd
IHTE 7 | A SUMRET T g3ttt T | g & foeht Hiwma wfoeemrm
T 28, A FIT IJUNIHT e § 8 2 SRl dfe | gmemse vE feufa o e
foraehl SusiRT &R S |

Jrra
U JUNIRKT hadl al aegell X 3R Y w1 U9 Haar 7, Teht FHod shaen:
T 2 3R T 190 3hE 7 | AR MR G St ST T HA gAaT | o
X 61 €t ITNfar 4 3R Y 1 off 4 8, A1 01 3U9RA 9gad | ® ? RO
AfSe | gremse v foufa @ we faadhl Sudht e um | Hiuid e
forgetwor =1 3w hif |

A consumer consumes only two goods, each priced at Rupee one per unit.

If the consumer chooses a combination of the two goods with Marginal
Rate of Substitution equal to 2, is the consumer in equilibrium ? Give
reasons. Explain what will a rational consumer do in this situation.

OR
A consumer consumes only two goods X and Y whose prices are ¥ 2 and
¥ 1 per unit respectively. If the consumer chooses a combination of the
two goods with marginal utility of X being 4 and that of Y also being 4, is
the consumer in equilibrium ? Give reasons. Explain what will a rational
consumer do in this situation. Use Marginal Utility Analysis.



12. UiEd AUl & =M & $od 3cqred o ged § fafye =7 a8 | e =1
& M8 HRor it AT | TErfe 1 5= K | 6

What are the different phases in the Law of Variable Proportions in
terms of Total Product ? Give reasons behind each phase. Use diagram.

Fig:  FEliET 3v7 Fac gIBEI ahenier @ 1o7g o7 G812 % T W E

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 12.

T HEATCH IS0 1 TEEdl § Nad oqural & e % e Scared &
ey 7 faftr =wor 9amsy | g¥s = & diw o | S | 6

State, on the basis of numerical example, the different phases in the
Law of Variable Proportions in terms of Total Product. Give reasons
behind each phase.

13. T 3IUIGh hl Tt ohl Il o I TohIER THSATET | 6

Explain the rationale behind the conditions of equilibrium of a producer.

14. T %] 1 IR Ggad | 7 | 9 h 7 # “Ff” ol 2 | 39 gfedq
HRUT B Il THTE] hl *T@e FHST | 6

Market for a good is in equilibrium. Demand for the good “decreases”.
Explain the chain of effects of this change.

Qus d
SECTION B

15. ‘OHy {1 % IS & Uk Fdmsy | 1

Name any two components of ‘aggregate demand’.

16. I Ewid 3N Yg = 0, T[0T 1 oI I8 &1 : (Fa! fasheq ) 1
(31) 0
®) 1
(@) 03N 1% =
(3) W=

58/2/1 7 P.T.O.



If MPC = 0, the value of multiplier is : (Choose the correct alternative)
(a) O

b 1

(c) Between 0 and 1

(d)  Infinity

17. TR a9 § Wi =1eT 389 sl 8 : (F& fashey gin)
(31) =S YA
(¥) =S YA — 38R
(") SYUR — a1 YdH

(8) 3wk o & IS T

Primary deficit in a government budget equals : (Choose the correct

alternative)

(a) Interest payments

(b)  Interest payments less borrowings
(c) Borrowings less interest payments

(d) None of the above

18. 9H ¥ HH-9T T = 7 ?

(1) W @l

(@) SuRE

()  eride TgrEan

(3) i srfemEn W/ o

Which one of these is a revenue expenditure ?
(a)  Purchase of shares

(b)  Loans advanced

(c) Subsidies

(d) Expenditure on acquisition of land
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I 9T 9ad B W 99 focEl gg1 it gt 7, 91 T 3™ W Ig YHE
TS ! HATEHAT B : (HR faehed gfw)

() HhNRIcHS

(¥) TPNIcHS
(d) hWIHS d THNIHS SHI
(%) IS yumE &

Other things remaining the same, when foreign currency becomes
cheaper, the effect on national income is likely to be : (Choose the correct

alternative)

(a)  Positive

(b)  Negative

(c) Positive and negative both

(d) No effect

e Tifgeh Tohal Quf ITIG = T 4,400 TAT A FIhh (YR = 100) = 110,
I IR faeh Heohed <M IS hT Tiehald shifoTy |

If the Nominal Gross Domestic Product = ¥ 4,400 and the Price Index
(base = 100) = 110, calculate the Real Gross Domestic Product.

PAH gad @l § W (Tad) e 3R SHESE 8q oFed o 31d

ATy |
YT

YA FgoH ol § SR Fqa 3R e @ 9gad o 379 Jarsy |

Give the meanings of ‘autonomous’ transactions and ‘accommodating’
transactions in the Balance of Payments Accounts.

OR

Give the meanings of Balance of Trade and Balance on Current Account
of Balance of Payments Accounts.
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HRUT SdTd gC 0SSy fob Wia™ aqe wan | forgsti i fean mn g el g
foran ST B

Giving reasons explain where charity to foreign countries is recorded in
the Balance of Payments Accounts.

hedld Sk 1 “FLHN I deh 1 LAY |
HAAAT

Hed1d Sk T “Sehl Rl Sk 1A FHEATSU |

Explain ‘Government’s Bank’ function of the central bank.
OR

Explain ‘Bankers’ Bank’ function of the central bank.

BH UHT R Hgd § foh ATMUSY Seh g1 1 Goid Hid & a1k 89 I8 Hl ad @
Tor Tt I S T THATT T(URR hegld Soh bl & ? THSATSY | ITUST Sehl
SR HgT G o1 TP AT T R YHE 98- hl GHEAT § 2

Why do we say that commercial banks create money while we also say
that the central bank has the sole right to issue currency ? Explain.
What is the likely impact of money creation by the commercial banks on
national income ?

T AdITEdT e H 7 | Fefafed & diWa s=a ggia w1 qiehe shifeg :
TS 3T = 1,000
TR I9HNT = 100
fas =13 = 200

An economy is in equilibrium. Calculate Marginal Propensity to Save
from the following :

National Income = 1,000
Autonomous Consumption = 100

Investment Expenditure = 200

10
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26. RV FdTd gC FHIATSY foh TP 3T 1 IAH ad Ty HefaRad % @y
ERIRCLIERIISICIRC] T 6

(i) T ®H g M o 1 Pram
(i) Ueh hREH gR &I 39N & fo7u wef wliean
(iii) T Tafercamer™ g1 @1 o fore e @le

Giving reasons explain how should the following be treated in
estimation of national income :

) Payment of corporate tax by a firm
(i1)  Purchase of machinery by a factory for own use

(iii)  Purchase of uniforms for nurses by a hospital

27. ‘Ehifasri a0 € Fa1 AfuE 2 ? SfErd Aepal ffY T i 39 ST Wl
H | fieh FHSET |

HAAAT

‘HATE 7T W FAT ANAE B 2 3H IR Hl P B H WIS wreeh rvams
I yfienT FHATST | 6

What is ‘inflationary gap’ ? Explain the role of Cash Reserve Ratio in
removing this gap.
OR

What is ‘deficient demand’ ? Explain the role of ‘Margin Requirements’
in removing this gap.

28, THIfthRl 3R STEhHITahil TR § TS H TehR] SI1e ohl Y{Heh! THSST | 6

Explain the role of government budget in fighting inflationary and
deflationary tendencies.
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29. ‘SN HITd W Thal T 3cq1g qAT A feheh 3T Yiehictd shifTT :

(T #3)
(i) TGl 91 o 800
(i)  afheh 150
(i) T AR 200
(iv) Afoafd «mw 10
(v) TSRt grT SwTioreh GRe STRIgH 100
(vi) T & 50
(vii) foceni @t faa e o (-) 20
(viii) Sfcheh TSI 3T 1,200
(ix) T srocas 70
(x) 3T YSil T ITHMT 30
(xi) T-FEiE A s 500
(xii) Vel 9
Calculate the Gross National Product at Market Price and Personal
Income :
(¥ crores)

1) Wages and salaries 800
(i1))  Personal tax 150
(iii) Operating surplus 200
(iv)  Undistributed profits 10
(v)  Social security contributions by employers 100
(vi)  Corporate tax 50
(vii) Net factor income to abroad (-) 20
(viii) Personal disposable income 1,200
(ix) Net indirect tax 70
(x)  Consumption of fixed capital 30
(xi) Mixed income of self-employed 500
(xii) Royalty 9
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